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Question Number : 1 Question Id : 9032018311 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which was the following 1s a non-heterocyst nitrogen fixing
cyanobacteria

& (800 T&S°, THERH[TD KB PHS B HoHSP 3080k A6

Options :

Nostoc
ears
[

Anabaena
k8%

Aulosira
3 % &RV

Oscillatoria

Question Number : 2 Question Id : 9032018312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

All the species of Albugo are
@majﬁB ermehod

Options:



Obligate parasites

BN DTER EJen

Obligate saprophytes

0 EQ) JeBFES Sy
2. %

Facultative parasites
JENE Hoedy Ehen
S o (=

3. %

Facultative saprophytes

4% D5OE TrEsGEY £Hen

Question Number : 3 Question Id : 9032018313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The fruut in Asteraceae
@@B?&é" S0
Options :
Siliqua

DS
1. % =

Hesperidium

B ot
. Ta'FoaDjB{édfafo
2.



Cypsella

Lo B T
oo o
o) ™

Samara

S ule
4. %

Question Number : 4 Question Id : 9032018314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fossils formed at its original state in Amber are known as
KrolE® chmrdforr dererem Jrdwed) JiD0rD.

Options:

Compression
Eo(DAR)
1.%

Mummufication
aé:a&bég’;ﬁﬁf;

[mpression
Soo(then

Petrifications

B3OS Ten
4. %



Question Number : 5 Question Id : 9032018315 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Trichoblasts of Polysiphonia are
OGS BEE Eseen

Options :

Short branches of limited growth
50D é@%ﬁ@ cﬁ'-‘f% Fogen

Long branches of unlimited growth
50D 5‘5&@(“1@ SPEIS Togen
el

2. %
Long branches of limited growth

- 0D aﬂg)@ﬁ@ PEIS Togen
Short branches of unlimited growth
©HN0E NHoe E Tegen

4 % o0 €3

Question Number : 6 Question Id : 9032018316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The characteristic feature of lipids of plasma membrane in

Archaebacteria
- 6" - ]

e8erdBa5r SramEidos® ok 99 8% oBndn
) é‘a ¥} ) £

€ ™~ ey

Options :

1. %



Glycerol ester lipids
AR0TPS RS ™Y

Glycerol ether ester lipids

| DTS &5 At DR
L e B _

Glycerol carboxylic acid
AdTS 2098198 eno
3. %

Glycerol ether lipids
ARoRS &b epo
4.9 |

Question Number : 7 Question Id : 9032018317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The virulent phage in bacteria shows the following life cycle
w%@cﬁwé’s, D5Bots Dfen & EQE SBEHn SrsHrom

Options :

Lytic and Lysogenic cycle
SAE 0y SARIE J(ESw

1. %

Lysogenic cycle
SERDE SES»
2. # )



Lytic cycle
&8 JESw

Prophase and lysogenic cycle
BrHE Hodcsn BAERIE SBcw

Question Number : 8 Question Id : 9032018318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Vascular bundles in which phloem is surrounded by the xylem
SPRE Beoerodn HEY o) &F) TEseHomren
(=

Options:

Amphicribal bundles
©0EBad Hode

Amphivasal bundles
SoHTS Hoden

2. ¢
Collateral bundles
Rt N e
L O 8), yoed
Radial bundles

Sol0%E Hoden
4, % =

Question Number : 9 Question Id : 9032018319 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Who discovered the genetic recombination n bacteria through

transformation
SO0 E” H0NTNO T @t erdg)R: Homread STl
2)o35?
Options :
Fredriek Griftith

@EB 1ADS
-

Lederberg and Tatum
OLlal & Ertosd

Zinder and Lederberg
=088 & @éﬁa§

Beadlle and Tautum
28 & &

Question Number : 10 Question Id : 9032018320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which bacteria are used in commercial production of Vinegar
rO(@orr S B )B8S° HAZFN0D »S0Sr 2b.

Options:



Streptomyces griseus

RPBRS BRT
1. %

Bacillus subtilis
, & EPROR VSO

Glucanobactor
KrseSterks
£ g2
3.
Closteridiumacetobutylicum
.5 o w =
S [MRTOURISY 253" enSBOED
4. %

Question Number : 11 Question Id : 9032018321 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Proteins that transport two molecules across the membranes mn same
time and direction 1s known as

Coth 5P @s)e, 2.8 ¥ahod?, a2 B3 é@iﬂo ~alen Yares
Soso Ere
Options:

Primary transporter
(HNE Saree soUTeen

Antiport

e oHsrs
2. ® &



Uniport

5t g
WW-@'-‘E

Symport

20885
4. “

Question Number : 12 Question Id : 9032018322 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Floridan starch 1s a reserved food maternial in
HBS® FFOES &) Vend SFBHTPE®
. G

Options:

Bacillariophyceae
e RO R0

Rhodophyceae
&

2. %

Phaephyceae
DA P

Xanthophyceae
PO N



Question Number : 13 Question Id : 9032018323 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The number of fertile stamens i Orchdaceae family
@6;&5?@ B280020s08° PON0SEHS Sdorw R’}oaggj
Options :

- lor?2

2or4

Question Number : 14 Question Id : 9032018324 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Nannandria of Oedogoium are
SERPACHHDHS® ol ot e90dD

Options :

Large in size and contaimn Oogonia

-

25D sod Brderdcihdn BOA Sotron



Female sex organs

-
=]

& SohE escharen

§

2. %
Monomorphic
. RBBFHBED HSrsymron
3.
Male sex organs
)0, SAOY edcharen
4,

Question Number : 15 Question Id : 9032018325 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In Glycolysis, dihydroxy acetone phosphate 1s converted to

Glyceraldehyde -3 phosphate in the presence of following enzyme

ﬂswa?oﬁesﬂ & JoBD $HZEWE®, BIr(Ed) MR F,
JoQerE -3 S Rkare SrtyRothEod

Options :
Triose phosphate 1somerise
BTeR F)eS odTE

1.4

Phosphofructo isomerise

FPGE oFS0S

Hexokinase
2555255

\J{\JLM



Pyvruvate Kinase
i PHIS IS
4.

Question Number : 16 Question Id : 9032018326 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which types of spores are produced m plurilocular sporangium of

Ectocarpous

aﬁ‘zsvéﬁéﬁ iR dterddiren db8o Merolh 688 Jkow.
- b

Options:

H“lplﬁid motile zﬂospm‘es
ﬁ?oé"aﬁ 608 .:c-cﬁu

Diploid., motile Zoospores

CS {:woa S8 N80 mcﬁumm

2. ¥

Diploid, non-motile zoospores
RHVBE HodBerd mc‘ﬁda&*ﬂm

S

Haploid non-motile zoospores
EDﬂ BE B Berd udeeren
-

Question Number : 17 Question Id : 9032018327 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In which, nucellus 1s massive and sporogenous cells deeply embedded m 1t
D88 womrod: Smerodn JS™ 6od, vos? Gre Bt
b b

&\F&gémm A &otnod

-
L=

Options :
Tenumnucellate
Edeedome gy

ot o ™~

1, %

Integumentary
@oi8aN0

2. %

Crassinucellate
[R5 g

3. ¢
Endothelial

4% DoBROHS

Question Number : 18 Question Id : 9032018328 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following contams Carrageen in their cell walls
& (800 8 Q9 Sn¥dTos® il o Swrdsn DA Gotron.
i~

Options :



Laminaria

- e Do Bd5T
Gelidium
BOECH

2. %

Gracilaria
(MeR80 asoe

3, ®
Gigartina
EroT

4.

Question Number : 19 Question Id : 9032018329 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which type of asexual spores are produced i Zygomycotina
B DEBT% 005 8Dojgred® A 8o Bohs dikderen A HER.
[~ o/

Options :

Aplanospores

e dderen
.¢ ¥ @

Arthospores

TR e
2. % b



Zoospores

-~

DR G eren
bl

Comdia

. =3V Rlo vy

Question Number : 20 Question Id : 9032018330 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Heterothalism in fungi was discovered by
8dogre &’ P BoETrHESED B8 )R)ae L.

Options:

Pontecarvo
P Bse 55::,

Blakeslee

er2

Micheli
299

Haekal

23S



Question Number : 21 Question Id : 9032018331 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which type of sexual reproduction 1s present in Yeast
&QE” @) T80 oy (HEES stoidid

Options :
Budding
§ 6\51\,f
(ST T=en
1%

Binary fission

SR VANT P
@ )t
2. ®
Ascospores
8B
3. v
Chlamydospores
2 E X Boen
4. ®

Question Number : 22 Question Id : 9032018332 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which spore stages of Puccinia rust diseases are seen on wheat
35@513';'.3 231005 Ho%aH Brhen o Eden Sdadaron

¥

Options :



Uredial and Telial stages
CHFBEHS & EDHS &

1.4

Uredial and basidiospores
SHTBEIDHS & BRETrIHG &I

Telial and Pycniospores

- BSOS & HHTrANG 8

Telal and Aecial stages

L BDHS & KPS 8%

Question Number : 23 Question Id : 9032018333 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tunica Corpus theory explaining the shoot apex was proposed by
Som(ifdn 19809 D803 trgse SR

Options :

Carper
=50
O

Nageli

et
9 %



Hanstein

s
o.."EMPEgE

Schimudt

El"'!é?
4.v %

Question Number : 24 Question Id : 9032018334 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Chloroplasts with pyrenoid is observed in
£ rRE° POronssy HAS® Ko

Options :

Marchantia
é?@;%cﬁa

Anthoceros
SO RTR

Targionia



Question Number : 25 Question Id : 9032018335 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The layer covering the capsule in Polytrichum
FOBEDHS 28 & FBE° Ed@d sotrow.

Options :
Peristome
20T

=]

1. %

Apophysis
PRI

2. %

Operculum
vy

3 x S0r®
Calyptra

ey
SO
4. &

Question Number : 26 Question Id : 9032018336 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following 1s an important feature of Angler and Prantl

system of classification
Qo B Frod é&“éea@.; B9 coﬁ? ) o“;maj 0560 2.



Options :

Monocots are primitive than dicots

ERE¥ BeroBo8 8X¥ Deren SOOI
1.¢

Dicots are more primitive than monocots
[ - &
AEEE DeroBoll RK¥ Heren 8BHIID

Angiosperms are primitive than monocots
& . i
B8 derren DS derre Lo8 8QDID

Monochlamydeae 1s primitive than monocots
DEEY LereoB IrFE HTBIDIO
4. %

Question Number : 27 Question Id : 9032018337 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer with reference to Lycopodium
SEPPECHS oESD 980D VO BITESS

Options :

Pericycle absent
NDOHBo &osth

Cambium absent

@e;ﬂﬁégmﬂaﬁ@ IO ATAY)
2. ¥



Sieve cells absent

Frod) Swren Go¥d
3. %

Endodermus absent

@0&:@5@0 lelatny)

4. %

Question Number : 28 Question Id : 9032018338 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What 1s mean by perispore in Equisetum
&eB:R2e0SHS® 2OE eI

Options :

Sporangium inner layer

DEez IS §°00 &RV
1%

ﬁll'[hEl‘ri‘diEll imnner wall
B0, Eee8assm LD &

2.
Spore outer wall
DSdere Jenhd Y
it
3.¥

Archegoium outer wall
RberdchHdn BenHd &P



Question Number : 29 Question Id : 9032018339 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What 1s the type of stele in rhizomes Marselia
50Ok S5y & D BEDS (508 Logo Gonod.

Options :

Amphiphloicsiphonostele

&goh (B FPRE T g Treesed
1.4

Ectophloic siphonostele
e *ﬂ"':‘"-‘*a“‘ NG st

Haplostele
QB (508 Jogiedm

Actinostele
Blorsed (00 Qogidm

Question Number : 30 Question Id : 9032018340 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Aggregate fruits in Annona suamosa develops from
FrHonS® Posed Do A% ol @*‘-ﬁjaﬂe‘j@ D000,
L

2}(5'1



Options :

Polycarpellary. syncarpous . superior ovary
o tdisren, Yodinio, 6@ QO3 CHaD

Polycarpelary, apocarpous, superior ovary

oo igren, @dodinio, '&.1‘5_3 OGS 00
2.9 '

Polycarpellar, syncarpous . inferior ovary

w

20RO dEren, BRONE0, D) ®OoTEEcHaw

Polycarpelary, apocarpous. iferior ovary
sT0Potsren, ®dodinio, 6‘356:& LOTSCDHD
4. %

Question Number : 31 Question Id : 9032018341 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Biodiesal plant Ponganuapinnata belongs to this famuly
25 208850 @Y Trorrdidir I, & Hinoards TobHo

Options :

Amaranthaceae
OINTPOG™

Capparidaceae
Sa=BTR
2. %



Apiaceae

BT
3. %
Fabaceae
viT AL
4.

Question Number : 32 Question Id : 9032018342 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Branched. erect and shrub like Lichens are
FESHSD Bod, VenHrr, DHSSenrr DD Bikoen

Options :

Foliose

(Bzeg 88

Crustose

Fruticose
ﬁfnmg@{:}é% 20

=T

3. ¢

Squammulose

TS0 L
o o



Question Number : 33 Question Id : 9032018343 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Synandrous condition of androecium means
EJ0eN9E° darollR 8 ol
G
Options:

Fusion of filaments and anthers
SHvGoren Oy HoeHE e O Godisto

Fusion of filaments. but anthers are free
E o [=)
SoerSParen 0%, 838 Somren DDA soddo

Fusion of anthers. but filaments are free
BH8Gomren 402, JHooriSoren DEDE sodio

Stamens attached to petals
sSdoren e8RS HlEros® 502 doddo

Question Number : 34 Question Id : 9032018344 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Choose the correct answer on energy flow in a ecosystem
Etetxc é@&"fﬁg@“ #3 (Dardrdnd dowofod B8 ddrerto aknslod

=9

Options :

Carnivores belongs to 4 ®trophic level

Sororsten, Treniid 888 Arond RothErow
1. % i

Every trophic level, energy increases
58 PR 550&365“5, 58 r:‘gr::}:o 2IDE00

Herbivores belongs to 3 ™ trophic level
FegrEen, Sl RS rond Jothzrow

Energy flow is unidirectional
8 (DemTEn AB08M™ FerHedod
4.+

Question Number : 35 Question Id : 9032018345 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following family bilabiate corolla 1s present
Botd DEJeore DX ¥ 38 J(Eed & (Sob %en0nsne® $otod.

Options :

Mimosaceae

DR 20
1. %



[amiaceae

&= THY
2.

Asclipiadaceae

BRDADER
[ag =3

Rutaceae
Sedi

Question Number : 36 Question Id : 9032018346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Following 1s considered as primitive character in Rhynia
3csr FnGed® )08 & (B0 ofmrod ebd ofmerr FOFS.

Options :

Presence of rhizoids

v SoTredosenn EOA Gotitidn

Presence of sieve tubes in phloem
DBRE Boeereod® wod Treren 50ASOSESY,
2. ®

Endarch Xylem

©0&Y RGN TR
3. %

4. %



Presence of thick cuticle
SDOBDN @Rl ﬁ%ﬁéoc‘ﬁc‘iaﬁw

Question Number : 37 Question Id : 9032018347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
5- Bromo Uracil (5BU) acts as a base analogue for which of the

following nitrogen base
5-E3 oS (5) 9 ¥(Bed 008, BReterir $ Bko

Options :

Guanine

=
rrﬂtﬁm

Adenine
LIS

Thiamine
35

C‘ytosine
RS

Question Number : 38 Question Id : 9032018348 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Inflorescence in Poaceaea fanmuly
DT Hrewodnd® Q) D250

Options :

Catkin

58S

Umbel
55038

Corymb

Spikelet
Alebl=Tots

Question Number : 39 Question Id : 9032018349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The placeuﬁtiﬂn in Cucurbiatceae fanmuly
._a\_oﬂ‘}*égm %é008508° ©OLETGOND

Options :

Basal placentation

08 wolar ”035.6&}



Parietal placentation
SoTal S TeT ot SRR

Marginal placentation
63208 ©0oHTR oM

3. %
Axile placentation
R0 ©OTTIODND
4, % =

Question Number : 40 Question Id : 9032018350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In Bentham and Hooker classification. Discitlorae 1s imncluded m which

sub class
Boden & >80 aﬁéﬁfﬁtaés, EREfol & &HS61D S Toe ).

Options :

Polypetalae
PO S
1. %

Gamopetalae
RT3

Monoclyamideae
5?5"’5;&“03



Monocotyledons
VELY Seen

Question Number : 41 Question Id : 9032018351 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

(Canada balsam 1s a oleoresm extracted from the bark of
S5 ey o LOTFORS K & s B Kol B8 D,

T [
Options :

Agathis alba
a8 oY)

1, %
Pinussuccnifera
ISR
2. % %=
Abiesbalasanua
- )RS i
Ginko biloba
Aol B e
4. ®

Question Number : 42 Question Id : 9032018352 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

The phytohormone responsible for Bolting m plants are
S eﬁﬁ@dc}ﬁ (BB 0H% Beagdid 3.3&3’51"565&55&

Options :
Ethylene
= =

1 % mtﬁ@w
Auxins
@?’H =

2. » d{dw
Cytokjnius

GTEEE

3. %

Gibberllins
2e0DS

4.

Question Number : 43 Question Id : 9032018353 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer with reference to female gametophyte of

Gnetum
DHSHS® & BodrKdao 1009 ¥BH BLrErddn S0t
Options :

Archegonia are absent

5 &

(& Segeddidn ot

1. %



Nucellus absent
®OE06: Breerrenn ¢otstd

Integuments absent in Ovule

i} 20&508° woXESSLn SoXsh
3.

Micropylar tube absent
©OETRY TEID GOt

4. %

Question Number : 44 Question Id : 9032018354 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The second seral stage i Hydrosere 1s
220 (B850 Bokd (BSoBchSs

Options:

Phytoplankton
QERIE &8

Submerged stage
0AD &8

Floating stage
388 &8



Read swamp stage
08 =@ &3

Question Number : 45 Question Id : 9032018355 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a non- succulent perennial xerophyte
& (800 &S® 8550809 250a0E Il F8) 6.

Options :

Opuntia

o VAN AL
€u0d0), Q™

Bryophyllum
@&rHgo

Agave
LTt

Casuarina

Seex O

Question Number : 46 Question Id : 9032018356 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Pollen grains i Pinus are
280S° SorriGeanshen

Options :

Polysulcate and winged

ePSTorencineg & Bﬁ;m =t latteln
1. =

Monosulcate and without wings
QEreocing & THeo S
2. %

Winged and monosulcate

3 v 0¥en 8OA & B een e

Bisulcate and without wings

Oeorenddng & THen S0
4.% % =

Question Number : 47 Question Id : 9032018357 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What are the factors for pollmation occurs m Asclipiadaceae fanuly
@?0;@5%30‘5365?& Litpondns® O seése e STR o0 adrbEod.

Options :
Insects
&
SéosEen
1.«



Wind
o

Bats
r“i%@m

Birds
&
dFoen

Question Number : 48 Question Id : 9032018358 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Elongated, Columnar sclereid, distributed n fruits and seeds are known as
PEY™, Yogrsebdnr sod, Heoren HOA &ém@eﬁé QB0

é&tﬁﬁwmzﬁ) DD0LRED.
Options :

Filiform sclereids

50T Céej,éﬁeaﬂm

1. ®
Osteosclereids
ST EBeFen
2. ® £a [
Astrosclereids

={lagteatel Cﬁejéﬁaaﬂm
3. ®



Macrosclereids

Qe OESeTeen
s B

Question Number : 49 Question Id : 9032018359 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

End walls of xylem vessels with foraninate perforations means
8 e d’ @oéﬁcﬁ@eﬁ‘* DS S0l Hoeen b

Options :

Circular pores , arranged in groups
KolESnrr GoG Solgren HosHenre GolEsD

1. %

Elongated. arranged m parallel rows

U N, SSTosborr SEHS® dodEsn

Small pores, in the form of network
A fﬁo@ﬁ@éﬁ, OB @00 Gotitam

Presence of only one pore
2.8 Soldm EOA sodddn

Question Number : 50 Question Id : 9032018360 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Choose the cis arrangement of liked gene on the chromosome
& (800 BS°, FardPDHD 1S-0H08 Ko Ssror) ey 59O

Q0tH8 08

Options :

Aa/Bb

Ab/aB

AB/ab

AA/BB

Question Number : 51 Question Id : 9032018361 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Companion cells are closely associated with
Rdeseeren DS SHEre 5O wotrow.

Options :

Sieve tube elements

- Tood) T8 Sroseen

Sieve cells and phloem parenchyma
Tod) Swren HoBchy BHE Bomere & ) oSeseren



Phloem fibres’
9"5"’.?4 ?‘:E-E,c:-n@ —"nfjm

3. %

Sieve cells and axial parenchyma

ol Seren SoBA ©FADH ) Eeen
4. %

Question Number : 52 Question Id : 9032018362 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Resin producing ducts of Pinus formed from the
2IREQ TS S BB Treren ééf"jmﬂgcrﬂ QEYEEoD.
Lo

Options :

[_actiferous tissue
SED e Boeeodn

1. %

Schizogenous cavity
QDY Basieoren

2. ¥

Digestive glands
ﬁgﬁ (HNotoen



Hydathodes
e do(gren

Question Number : 53 Question Id : 9032018363 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer for Paracytic stomata
o RES HEbolpre Do I8N Srerddn AySTod.

Options :

Two subsidiary cells . right angles to the guard cells
S0 @20y Stren, 858 Srod wowore

1.%
Three subsidiary cells, unequal 1n size
00°8 @aodBaren, D88 od” @0
2. %
Many subsidiary cells, resembles to the epidermal cells
Trer @inaodBeTeen, E:J‘i’“é‘)f&ﬁé Begrerdy 80 &oerom
3., %
Two subsidiary cells parallel to the guard cells
00 @daofseren, 858 Srre) 008 Esm
4.

Question Number : 54 Question Id : 9032018364 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

In Nucleosome model, which histone protem 1s attached to linker DNA
SrERrPS $kures’, D086 G5 O eBDeE G0k P
%

P

Question Number : 55 Question Id : 9032018365 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Monocot stem showing anomalous secondary growth
©30MS ﬁ;@oﬁ:@é&@ 35y NBRY Sesseoiddm
Lt

Options :
Dracaena
(e

1.+
Boerhaavia
Ao vlareitlovsi



Bignonia

-

aﬁa_"lﬁﬂ\i::
(=
3. ®
Achyranthus
oforodn
4. %

Question Number : 56 Question Id : 9032018366 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Wood with uniform distribution of vessels 1s known as
2.8 00N S® &F’o& earEren B8O ﬁ?écl B0

Options :

Ring porous
ScDh Bo(&aine

Diffuse porus wood
D0 Solg5cines

Non porous

L ol 53

Semui ring porous
2 Hoch Sodaing



Question Number : 57 Question Id : 9032018367 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not the correct answer
& (808 TBS® D& $BY aara s
Options :

Nucleolus 1s present inside the cell
So(¥sr0dsm SolBE50E® Sotnod

Nuclear membrane has many minute pores'

]

So|BEdn BS® orer Srgibogren Gotrom

Nucleus and Nucleolus are double membrane structures
Bo[KEXn S0 Soisroddn Toth Pved SOAGOERAH

Nuclear sap contains DNA, RNA and enzymes
So(B8 808 EARD), B8EIR), OB GOLTOD

Question Number : 58 Question Id : 9032018368 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following plant shows white sap wood and red colour heart wood
& (800 TBS° T8 Bendh Gorh EHT BN AP Foid

08Py SOAS )



Options :

Dallbergialatifolia
Gﬂ@ﬁ%{:ﬁoﬁ@%@ﬁ@o‘;’uo

1. %
Pterocarpoussantalinus
éﬁﬁasﬂﬁoﬁ%oaééﬁ
2. %
Tectona grandis
B (rodS
3. % -
Azadiractaindica
werldse 30650
4. % =

Question Number : 59 Question Id : 9032018369 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which type of tapetum ., the mner and radial walls break down
to form perplasmodium
D B20DHE, %D Hbd mEn Fen H88%Fon 2OFFEEdb0

¢
D) 55i5308.

Options:

Amoeboidal
e herons e
1. %



Secretory
2868 e BersH

Glandular
(f0DS0E €206
3. ®
Dimorphic
REFSHES 6D
4. ®

Question Number : 60 Question Id : 9032018370 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Clover leaf model of t RNA was proposed by
t RNA §°50 SH(@085raeid (D&arP0000.

=
Options:

Kormberg
23fetsFalefat

Meselson and Stahl
DS & c—:gef

2. %
Holley
S
3.



Rukkert
tﬁ:ﬁeg

Question Number : 61 Question Id : 9032018371 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the correct answer with reference to development of male
gametophyte in angiosperms
@é@jé dered® HORRoR= S @Qé@@ 080 {988 Jdarerlo
EnEod

[

Options:

Pollen grams forms bigger generative and smaller vegetative cell
DTN fimé}m Falaley (%5& ﬁ@g;csﬁ Eeasdn, &5&&:‘? éﬁcl

FDoodetn D08,

1%
Vegetative cells form male gametophyte
FHoHEE0 HHR $oBr Derod D)0
2. %
Generative cell forms the pollen tube
&TEE 8690 JTRTEIDRD A Boar0w
3. %

Male gametes are non-motile, without flagella
Do eren, Sdveren SH0E, POR Jirddnre Gotron



Question Number : 62 Question Id : 9032018372 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In the following stage of meiosis, each bivalent chromosomes
shows 4 chromatids
B8t QPudR & $E6° (B8 BHToll, Tentd (FSrdGod SOA

&Oo00.

Options :
Pachytene
£ &
| v P56
Zygotene
£ .5
BE
2. %
Diplotene
&SPES
3. % |
Diakinesis
ISR
4. %

Question Number : 63 Question Id : 9032018373 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Embryo sac contaming 16 nucleate stage 1s known as
e grroldaie 80D KB Voreridadn Dotds 5.

Options :



Plumbago type
Q_o:ﬂﬁﬁs BES»

1. %
Drusa type
(EeTe 8850
2. ¢
Polygonium
FOFTAHS SEH0
3, %
Allium type
. DDAHaD BES»
4, '

Question Number : 64 Question Id : 9032018374 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose correct answer with reference to Mitochondria
o€ gro(&ai 00D WBN Kadrrgried® NoHE0d

Options :

Linear DNA and 80 S ribosomes
QenRrre &) AATD 50050 80T BE D)

1. %

Circular DNA and 80 S ribosomes
SOCTPSEED BARD 0060 80T BSPIBD



Linear DNA and 70 S ribosomes
QeoHe &) EAS $:0050 700 IS &)

Circular DNA and 70 S ribosome

SocSrseBin AATY $0cs» 70D DS
4.

Question Number : 65 Question Id : 9032018375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Differential maturity of androecrum ad gynoecrum in

bisexual flower 1s known as
&xdore Har)ed”, 00olE ¢S, BHdD, St 3D HHchdns? ASE

TREO.
Options:
Dichogamy
[N atAs
1.4
Herkogamy
Feploiplet:dy
2. ® &
Xenogamy
&
ﬂn‘jﬁ‘gﬁé‘.‘o
3, ®
Dichiny’
&
asd

4. %



Question Number : 66 Question Id : 9032018376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following enzymes removes the small groups from the complex
groups other than hydrolysis
& (800 dodwen, &8 cooggds’m 0od A% Mo A ATRNS

L (=8

e T B0,

Options:
Hydrolases

| x  TETER
Ligases
e

2. ®
Lvases
O@oE

3.V
Transferases
| =

4w (€0)00e

Question Number : 67 Question Id : 9032018377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



What is the F, phenotypic ration, when the pink flowers showing

mcomplete dominance are crossed

@:505P8 atrdBio s 208 Sod Ko HAmed Ko¥dn B2, F,
& 0 o oJ

88565 D6 Db,
Options :

3 red: 1 white
3 50 1 1 Senyy

1%

1 red: 2 pmk: 1 white

1 5 : 2 HoE: 1 Bend
2. ¢

1 pink: 2 red: 1 white

1 208: 2 d%HY: 1 Bend)
3. %

1 pmk: 2 white : 1 pmk
L 1 208: 2 8end: 1 205

Question Number : 68 Question Id : 9032018378 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Pollination by Bats is known as
Beere abd HBHTH $oHY)mw

Options :
1.¢



Chierpterophily
86°3:099

Anemophily
EVEVS D)

Malacophily

H0emEH
3. %

Geitonophily
RSP0

Question Number : 69 Question Id : 9032018379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This 1s not the characteristic features of Fluid Mosaic Model
30 Hpont wueons Sdoreae Sogg OFR0 s,

Options :

Lipids shows amphipathic condition

&
DH&en @odTRE ol DA Godron
1. % -

Integral proteins attached to the lipid layer
20838 (P& DE P& 0HEIR sotron
2. %



Extrinsic proteins attached loosely on lipid layer
23rPE (@8R ODE PEE Hheorr @HEND Sobron

Lipid and proteins cannot move freely mn the membrane
Ov&en, [EREReD é@iﬁ@é’s T IDoEBYH
4.¢ '

Question Number : 70 Question Id : 9032018380 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The most abundant RNA 1n a cell
Eea sl S” QR &orr g0k «BITD
Options:

m RNA
t RNA

r RNA

hn RNA

Question Number : 71 Question Id : 9032018381 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Double fertilization in Angiosperms was discovered by
@5‘5@6 ooy & &aﬁé@&ﬁéﬁéﬁ ﬁé@?gﬁ&&

Options :

Hafmeister

.
oJ

LA rte!
£

Nawaschin

“"\f.—l-nEI F-.
Ol O ﬂ:]'ﬁ.l'
2. ¢

Haheshwar1 and Guha
S5erd 88 & e

Dahlgren and Clifford
oS08 & gﬁvg

Question Number : 72 Question Id : 9032018382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The characteristic feature ofHelobial endosperm
3PS RCHS 80BN So0g)y O

Options :

Cellularization of endosperm from beginning
@ofoéa‘jtéaﬁm @B08IH0w oo Boadindorr &otnod

1. %



Free nuclear divisions in endosperm

@0:‘53@65561}935 'Eﬂgﬂ::; -ﬁo@ﬁ Qs 2ivesood

Both, free nuclear divisions and cellularization of endosperm
@ofaiﬁw\.é&én fﬁ;ﬁgﬁ@@éﬁ Dty HOG Beadimme, Do BOA

=100 l0vY)

Folding on superficial layer of endosperm
©ORY)H0 GOS0 B DG GOEPOD

Question Number : 73 Question Id : 9032018383 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a subunits of nitrogenase enzymes
& (800 7=0S° IO JE°EIE dogsn B

Options :

Dinitrogenase with MoFe protein
G35°8RE - MoFe (085
1.4

Dinitrogen reductase with MoFe protein
23&°=S 8638 - MoFe @88

2. %
Dintrogenase with Fe-S protein
- BIE°23IE Fe-S (PEQ



Dinitrogen reductase with Fe-S protemn
SRE°=& 05ZE - Fe-S (@&

Question Number : 74 Question Id : 9032018384 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which type of gene interaction indicates the 9:3: 4 phenotypes
9:3:4 $\55rHE N, @ 2w FHY I8 drddod.
e D %)= 2 o 2 b
Options :

Complementary gene interaction
ROIREE esdogeden

Dominant epistaxis
2ePYH DDPED
O (%]
2. %
Duplicate gene interaction
&
D8NS e3doseen
3.8 ¥ @ .
Recessive epistasis
@oBBSE DrdHR
4 0 ]

Question Number : 75 Question Id : 9032018385 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The following type of dicot embryogenesis, basal cell forms
2-8 celled suspensor
& (300 8550 5@65%5 &as 308 @@é{;@é‘ 880, 2-8 Seren ﬁé%):é

©RI0AEINRD JHEROA.
Options :

Solanad type
oTE B8

1.4

Asterad type
sHTPoNE BB
2. %

Chenopodium type
S = —
8SDBAHS BESw

Cayophylloid type

s*03erons BESw
4. % |

Question Number : 76 Question Id : 9032018386 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer with reference to m RNA
m RNA 8 020809, 388 K&oeeeain JoHEA.

Options:
Eukaryotes possess Monocistronic m RNA

. G5 OBNS® TS R(FERE m RNA @0énod



Prokaryotes possess Monocistronic m RNA
BB T E® FrSREFAE m RNA ¢0nod

Eukaryotes possess Polyeistronic m RNA
Arse0@ENS” FPOVTNE m RNA ¢oénob
3. %

Prokaryotes possess Mono and Polycistronic m RNA
Ers0TrRHS° e Hobako SOVEPAS mRNA ¢oénod
4. %

Question Number : 77 Question Id : 9032018387 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In. ubiquinone acts as electron transporter between the following proteimn

complexes durmg electron transport chain
QoD B Teootdd, SoDETS & (80D (EES

Options :
Complex I complex IT

Do8aem I Ho8Rsm I
1 % ~ea ~ed

Complex II and Complex IV
Qoggew I Sogsysw IV

3

Complex I and Complex III
0085350 T Ho8sisn III
3 ¢ T Pl



Complex IIT and complex IV
Ho8385m IIT Koy IV
~ed "M
4, %

Question Number : 78 Question Id : 9032018388 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Common type of polyembryony mOrchidaceae fanuly
@6&3?‘\} e00050E° Ferdmorr 0203 ol

Options :

Adventive polyembryony
)8y TNOLES

1. %
Cleavage polyembryony
DHBE 2570058

2. %
Synergid polyembryony
QDFSere 000K

3. %
Antipodal polyembryony
BEFEE ool

4, %

Question Number : 79 Question Id : 9032018389 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following aposporic embryo sac has four nucler without
antipodal cells
& (800 oAIOE BoE EmE’, wend Soseed KON, B

Seren S0
Options:

Panicum type

Fl8o BES»
1.9

Diplospory
&EEI0 B85
2. # '

Hieracium type
sror8cho BEEw
3.

Adventitive embryo type
©N0Y HoXE BB
4. %

Question Number : 80 Question Id : 9032018390 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Hemicellulose in plant cell wall consists of following molecules
Ee 5585w T Rend’E S wmgo SOA Gotro.

Options :



Alcohols

@@;&"55
1. ®
Phenols
HTS)
2. %
Fatty acids
E°Jg wago
3. %
Mannans
ST ReD
4.

Question Number : 81 Question Id : 9032018391 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The characteristic feature of Z DNA
Z DNA &%) maa; ©F s

Options :

Left handed with 12 base pairs in each helix

QEBIBY TeaSn EOA, (HODOSS® 12 gresdben
1.4

cht handed with 11 base pairs in each helix

Ric
HEJH TS0 BOA, (HEDOSS® 11 58 eden
2. %



Left handed with 10 base pairs in each helix
DER0RY Teerdn BON, (DBDOES® 10 5006 a:den

3. %
Right handed with 10 base pairs in each helix
HEJH Tedn BOA, (HEDOSS® 10 T8 exden
4. %

Question Number : 82 Question Id : 9032018392 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The path of electron transfer in PS IT of Photosynthesis
S8eaady DoEiS BcHe® PSII & (S0 BaeeE °P0
Options :

Plastocyanin to Cytochrome f
P PRODAS Dod 48 f

1%
Cytochrome b6 to Ferredoxin
2D b6 K08 PO
2. %
Pheaopyhtn to Plastoquinone
PTrRES Dol PRPESS
3.¢

Ferredoxin to Pheaopyhtin

2088 Dol HTrpES
4, %



Question Number : 83 Question Id : 9032018393 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following chromosome was observed m Meiosis

prophase I of Oocyte
& (8o &S o E3rFd [l drdarod®, Sabstn Defed

BER55E KBom.

Options :

Polytene chromosome
FOEHS (B e Banen

1. %
Lampbrush Chromosome
eon (@6 (B arrdiaoen
2.¢
B-chromosome
3 x B-(E3rePdoe
Sat — chromosome
Sat — E°3etHoex
4, ®

Question Number : 84 Question Id : 9032018394 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Tol -plasmid of Pseudomonas putida 1s an example for

b HOSPY Tol 528 B8 Gorsrses

Options :

Fertility plasnud
2008 axE

Resistant plasmud

S0t P&
- &5 220

Col- plasnud
5O =6

Degradative plasnuds
ANt A

Question Number : 85 Question Id : 9032018395 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fat storing plasmids are known as
THeD Jend T aeRen

Options :
Elaioplasts

2OTr arp2n&en
1.¢ sl



Amyloplasts
o&° SFySen

Aleuroplasts

DexBiare2n&en
3. 33 I_-:l .~ E

Leucoplasts
erecEiSpRn&en
g Mg
4. %

Question Number : 86 Question Id : 9032018396 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which organelle is associate with the cell plate formation during

cell division
o) Beroifso, Beadgadd” Endeilin do)tnd HrE0k00.

Options :
Sphaerosomes
?‘00‘3555'353@

1. %

Golgi complex
e Ho8as50
£l rMgd

Endoplasmic reticulum
©OBH (Bagerein

3.



Lysosomes

- B D%soen
4.% =

Question Number : 87 Question Id : 9032018397 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Theory of Hybrid DNA model for crossing over was proposed by
DQS0HENS D80T K08y Sdrardd (HOFDLH.
Options :

Darlington
GrOoNER
vy

Leidenberg
Slatelulel

Jansens

PPN

White house and Holliday
BOTFR & HFOT

Question Number : 88 Question Id : 9032018398 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Three point test cross 1s utilized for the calculation of
BDoth H0gp Sos8Em DB B8 0HrrA8 &BIrATB.

Options :

Distance between the genes
225de gy Sordem

1. %

Order of the genes

25 © HBD (B

Distance between the genes and order of the genes
&ﬁaﬁ@& a’aoc‘ﬁu G860, aéog] B0 (B

3.¢

Number of the genes
] [Nl B w4 [l
mé}@@ﬁf Loy

Question Number : 89 Question Id : 9032018399 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Medelian mheritance, the Test cross ration i a dihybrid cross
F0ES 0888, &;{:605&5 2Oz Kdo88es0 %?’.Jm@

Options :

1:1

1. %



2. %
5 x 213311
4 % 1770

Question Number : 90 Question Id : 9032018400 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In which type, the stomata are present more on the upper side
than the lower side
RBBoren &0800 B0l JENm B Sodnd® e &0g S8

Options :
Potato type
SREPET® BESD
1.4

Nymphaea type
Qodosr 88w

Potamogeton type
SPETREP SESW

Apple type

@) 8850
4, %



Question Number : 91 Question Id : 9032018401 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following are the non-ionizing radiations
& (800 TOHS® TrRwchRRon ESearen

Options:

y-rays
y-S8eaeen

X —rtays

X S8cren
2. %
UV rays
UV 8dezeen
3.9
B-rays
P-S&emeen
4. ®

Question Number : 92 Question Id : 9032018402 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the fallowing are transferred from Mesophyll cells to bundle
sheath cells m C 4 cycle
C 4 n5ed’, ad J(grod Sneroin Dok wsee)os EEnd D8

260 wHzron.



Options :

Malic acid

SO essho
1. v o

Pyruvic acid
EOE o
2. ®

Pyruvic acid and Aspartic acid
2808 spo & o085 o

Malic acid and Oxalio acetic acid
S8 @0 & @:‘Eés JBE &R0
4, %

Question Number : 93 Question Id : 9032018403 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the followmg deanmination agent causes gene mutations
& (8ob &P, 2y 688080 SeorieEain & SRR SEEKW

Options:

Ethyl methane sulfonate
=3S DES SSHAS

1. %

Methyl methane sulfonate

RS DB BEHIES
2. % '



Hydroxyl amine
TEF)S oS

Nitrous acid

RS i
4,

Question Number : 94 Question Id : 9032018404 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following 1s hyperploidy condition of aneuploidy
chromosomal mutation
& (808 =&S° 300 spont SONS Diiodhds (EFardrae
690G 0e.
Options :
Monosomics

- RSB NE

Trisomics

Triploids
@oﬁ%@?m



Tetraploids
230 2 BsPen
@

Question Number : 95 Question Id : 9032018405 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who proposed Pulsation theory to explain the transport of water in plants
BB DBSTws BOADHOD SIS darowed) (HBFHDNG.

Options :
Pristeley
e =i
IS
Godlewski

- FRO)

2.% ™ <
JC Bose
IC &%

3. %
Bouling
g Ooh

Question Number : 96 Question Id : 9032018406 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Mutations i which the part of homologous chromosome attaches to the

non homologous chromosome 1s known as
28 %88 E3rFDe 08 J68 wd5ds ErPEDed ko &

T 68058 meen.

3¢

Options :
Translocations
RT0HE0

1.¢  F
Duplications
OB 8eren

2. % %

Inversions
DS s oeen

3. %

Deletions
S aren
4. %

Question Number : 97 Question Id : 9032018407 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The deficiency of following elements results in “Heart rot diseases”™ i

tubers
& Srosdn Sthdn o) tﬁ:oé&né&m@é “SZ'QQU@” o 750
2B)od00.

Options :



Nickel

AEl
Chlorne
08
2.% 7
Copper
s*a 8
3, %
Boron
Sore
4.

Question Number : 98 Question Id : 9032018408 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If the EC No of enzyme is 1:1:1:1 What is the 2 ™ digit indicates
dogave EC dogg 1:1:1:1 &° Bok Kogyg
Options :

sub-class

SEielats

Sub-sub-Class
GO —Go—80NE



Reaction type

zﬁﬂﬂéiﬁﬁé&}

3. %
serial number of enzyme
DoBE DD (B5odw

4, %

Question Number : 99 Question Id : 9032018409 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following 1s an example for cytokines
a0 & Q'QF"’“SH Slwpelelad

Options :

Indole -3-butyric acid
208°S e85 espo

1. %
Naphthalene acetic acid

- TROR HDBE eo
Indole 3-acetic acid
208°S AVES eHo

3. %

Kinetin

1.1-.‘\.-'&-..1



Question Number : 100 Question Id : 9032018410 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When the solute dissolved in pure water, the value of water potential
H528 NB3E° (95w EOAJYD, E‘Jé%’ﬁéo Qend
'CIJ [P
Options :

Increases
Feleblabl v o]A)

No change
Ao Lty SO

Reduces

S}pe08

Becomes zero
A,



